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SHOT—~<: EB(E
SlEn S, [THNGEBRIR C ETEZ 3, ROEERE W20 5
THb,

FIE 7.1.C LD 0 THRWEED 1 ZRZHERN 13 1 XKROBEICoR
TZ 5%, ((KBFOHEATH)

E&E 7.2. Ac M, (C)IZHLT, AeC P A DEEE < Iv #0 such
that Av = A\w.

ADBEEMENCHLT, Ax = Ax 2T x£0 %2\ BT S A
DEIBRNT FILEIESR,

LoEHRT ET2) o ZAhd ST 21 LWHEERF SR
BHH5,

i 7.3. e C ¥ A OEHHE < det(\E, — A) = 0.
% 7.1. C LD n KEFTH A 3P s 1 oDlEFEZF O,

EE 7.4. fa(r) = det(aE, — A) DZr % A DEEFZEA, HERX
fal) =0 DZ % A DBEHHER L LR,

EIE 7.5. HELRABEEME N\,.... \ KWBTB3EAXRY FU xy, ..., xk
—RMNLTH %,

HHRE 7.6. [EHME A, N, WEBTBEENY ML xy,.., x, DK
ML TH 572513,

A(xy, .y xp) = (x1,. .., Xy )diagonal (A, ..., A\y)
DM (x1,...,x,)" ZHEDPOHNT T,
A= (x1,...,x,)diagonal(Ar, ..., A\p)(x1, ..., x,) "

EE7.7. A= (ay) DXATHITD 5 &1Z. DAL DRI
ERAS PR}

aij; =0 (i#jDEE)
DD ALDO L FIZW I,
AR—=ZDHET, 2D EH) Tld D178 D = diagonal(dy, da, . . ., dy)
WO EXLETL, MARDH d,...,d, THLIZ0TH2 X%
T WIS BRTH 5,

ﬁﬁaﬁﬁﬂlﬂi@%ﬂ%frﬁ&ﬂ%m:% LWy, ZAUE, WA1T8 D = diagonal(dy, da, . . .

WK LT, EAXRZ Ml ey,...,e, B
D(Bl = dl(Bl, D(B2 = dQ(BQ, D(B3 = dg(Bg, ey D(Bn = dn(Bn,

7z L TWBNL5TH 5,
il 7.8. XA1THI A = diagonal(ay, . .., a,), B = diagonal(by, ..., b,)
W LT,

(1) A+ B = diagonal((a; + b1), ..., (a, + b,)).

(2) A— B = diagonal((a; — b1), ..., (a, —by)).

(3) cA = diagonal(cay, ..., can) (c € R. )

(4) AB = diagonal(aiby, ..., a,b,).
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